Assignments:

(i) How many terms of the AP

11
—0, 5 D, ... are needed

to give a sum —257

Ans) Given
11 1
a,1——6,d— 9 ( 6)—5
and S,, = —25
We have

= —25= [2(—6) +(n—1) (%)]

—25x4=n(-24+n-—1)
n? —25n+100 =0
(n—5)(n—20)=0
n=295 n=20



(ii) If the sum first p terms of an AP

is equal to the sum first q terms.
Then find the sum of first p+q
terms.

Ans) Formuls:
Sp = E[ZG + (n — 1)d]
Sum of first p terms,

Sp = %[23"' (p —1)d]

Sum of first q terms,
S, = %[20, + (g —1)d]

given,

S, = S,
Sl2a+(p—1)d = I[2a+ (- 1)d

pl2a + (p— 1)d] = gq[2a + (¢ — 1)d]
2a(p—q)=—-dlp—-g)lp+q-1
2a(p—q) +d(p—q)lp+g—1 =0
(p—q)[2a+d(p+q—1)]=0
P—q#0=>[2a+d(p+g—1)] =0
Now,

+
Spra = Fo2[2a+ (p+q - 1)d]

pP+q
5 X 0
=0

Therefore the sum of (p + q)
terms is 0.




